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We are concerned with the traffic control. For the desirable traffic control, we need to control traffic flow from
microscopic view as well as macroscopic view. Though it is essential to consider controlling from microscopic view,
most of previous researches about the traffic control mainly focused on macroscopic point of view. We define that
the side to control from macroscopic view is the information center, and the side to control from microscopic view
is the drivers. In our research, we pursue the effective direction of the information center considering the driver’s

property of individual decision.

O We introduce Q-learning to acquire the strategy of the drivers under the direction of the information center. In
this paper, we show the influence of the driver’s learned decision under the loose control on traffic flow. In addition,
we analyze the influence on traffic flow when we changed the strategy of the information center.
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